HSSC Clerk, 23 Sep 2019, Evening

5/2019 (1) (E3) |
1. Which of the following statement refers ﬁtﬂ:ﬂﬁga ¥ aﬂq_ﬂmlllllllllllllllllllllﬂlﬂllllmlm
to the Judicial Review Power of Supreme & = F Hatey ey
t? 1 AR 3 ey
e —— (A) gt w7
JA) Powerto examine the constitutionality Wﬁﬁﬁn H 3y W
of laws ®) TR "
(B) Power to advice the President in legal LA fermmy TSRy 5
views ) JferpR e 33 3
(C) Power to settle disputes between state TS ) 3
governments Afrr mﬁﬁﬁ Froer 37
(D) Power to appoint Judges to lower (D) Frash SFeTer
courts F H 3 ATy Fgm
2. Which protocol is responsible for making 2. T3y .
sure that the commands get through to the %ﬁ ¥ ¥ g T B @ 2, 7% e
other end ? % o B-g Toria %
(A), UDP (B) TCP (A) UDp . ST § 7
@ P (D) PPP © P ((D; ;‘EP
r

3. The sum of squares of three consecutiveeven | 3. {7 s Blcatoas
~ natural numbers is 200. Find the numbers. 2002 | TR T g = R
\

(A) 7,89  (BY 6,8,10

(A) 7,8,9 (B) 6,8,10
© 89,10 @) 9,7,10 ©) 8,9,10 D) 9,7,10
4. f}f::c; Scheme was started in Haryana in 4. i ¥ fra ad =fis s & T A
€ar
(&) 2007,«%5 @ 2011 (A) 2007 (B) 2011
(© 2005, (D) 2009 (C) 2005 (D) 2009
5. Haryana is bounded by in the East. 5. sfEmngd | afmR)
(A) Ghaggar (A) W
(B) Madhya Pradesh (B) WeA W
) Uttar Pradesh (C) W
(D) Indori (D) TR
6. The S unit of modulus of elasticity is 6. TCATEAT WU Y TH. IS, T
(A) Joule: (B) Pascalg, (A) S (B) Yr=hd
@5 Newton | (D) Amperey, (C) =A (D) WRR
7. The File mode parameter ios::app belongs 7. Wtﬁgm‘ips::app
to_______ Stream type. THER H LM A FeElta ® |
WA) ifstream (B) isstream (A) ifstream (B) isstream
(C) ofstream (D) strstream (C) ofstream (D) strstream

2
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g. Which of the following disease/s is very
common amongst the livestock ?
(A) Brucellosis
(B) _ Foot and Mouth Disecase

¢c5” Both (A) and (B)
(D) None of the above

9, NO'is in nature.
14X) Paramagnetic

(B) Ferromagnetic

© Diamagnetic

(D) Anti-ferromagnetic

10. The National Dairy Institute is located in
(A) Bhiwani (B) Panipat
(@7 Karnal (D) Sirsa

11. Ifthecost of ‘x” metres of wire is ‘d’ rupees,

then what is the cost of y metres of wire at

f?
B the same rate '

w 2 (A) Rsxd) (B) Rs(yd)

d

i © ®(F) o rs(%)
| 12. Which of the following fraction is greater
than %and less than R

i 6
4 s 2 4
") = B 3
1 9
€ 24 @) 7o

13. InHaryana, the Mahendragarh is famous for
&) Metal work (B) Leather work
(C) Lac Bangles (D) Lungis

sl

0
@/i B 2

3 3
(D) None of these

3

10.

11.

12.

13.

14.

5/2019 (1) (E3)
e 3 @ —an/@ A T 6 =
gD AW T ?

(A) Tit=tE

(B) THR9eHT-Tgeadht T

(C) (A) 3R (B) Al

(D) U # & =g Tl

NO* wafa # 2
(A) FTITHA

(B) wegerhid

(C) wiagereha

(D) wii-slegaeha

Tt Sl weoH e e @
(A) Tt (B) Urd
(C) HA (D) T

afeaTeE 0 HeT AT ‘0 T R, o
R y Hiet A h T R 7

(A) Rs(xd) (B) Rs(yd)
© rs(¥) O Rs(:";d‘]
frferfiaa # A AR-m = 3 A
%a@m% ?
@& % ® 3

1 9
© 2 ® 35
e # mgTe e T eI @ ?
(A) HTg-FH (B) =i-wwd
() wmE et (D) Th 3
%
jsin’xdx=
il
A 2 B) 2

3 3

1
© 3 ®) AR
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15. Two numbers whose sum is 32 and product
is 256, arc
16, 16 (B) 27,5~
(C) 24, 8 (D) ’_20, 12

16. In Haryana, Ballarpur Paper Mill is

located at
(B) Sirsa

(A) Hisar
(C) Panipat ((P¥ Yamunanagar

17. Inthe radioactive decay of ,, U™, the center

of the emerging HeIparticles is at acertain
0-'$ m from the center of

distance 12 x 10
residual ,, Th** nucleus at that instant. The

force on the helium atom is

258 N (B) 222N

) 300N (D) 288N

18. Who is the author of the book “Third

Pillar” ?
(A) Manmohan Singh

(B) Raghuram Rajan

©

(D)

Shaktikanta Das
None of the above

andhan’ was written by
@) Jemini Sarsar
(D) Samprady

19. The Novel “Tuttey B
(A) Hemraj Nirgam

© Banabhattg(

20. Theenzym¢ ———— present i yeast
converts Sucrosé into glucose ang fructose.
(B) Lyases

Zymase
(C) Invertase (D) Ligases-

In Pointer concept, Indirection Operator

21.
(*) returns
value of the variable

(B) Location of the variable
(©) Address of the variable
(D) None of the above

15.

16.

17l

18.

19.

20.

21.

. (000 O
e 2wt A -eh e A 32 30k

2568 7

@A) 16,16 (B 27.5

(C) 24,8 (D) 20,12
Mﬁwﬁgﬁﬁmﬁﬁa%?
(A) fewm B) FrE

(C) uHiyd (D) FFTAR
U2 s ifeaeni s 3, Feaford He* 01
mﬁammmaﬁgmmmm%#ﬁ

19 % 105 m 1 g0 T & | gifera TG T

Chd
(A) 258N

(C) 300N
“aéﬁw"gmﬁ%awﬁq%?
(A) e fae

B) 222N
(D) 288N

wéztmmﬁ,mmmﬁm(*)
)t E FA R |

(C) = 1 Il

(D) I # & IS T
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722. The Railway Carriage and Wagon Workshop
" gt Jagadhri in Yamunanagarwas established
in the year Sagadhan

(A) 1942

@ 1952

1962
1972

(B)
(D)

23. Ifinacertain language ‘TRACE' 1\ written
as ‘GIZXV’, then ‘ROAST’ is wrilten as
(A) IMZHG (B) ILZGH
€y 1LZHG (D) 1ZLMG
. a-2=2 8
g P . ——— A ¥
294, If 3+—£+; =4, then X !
6 18
“+9 19 B)
24
© 3 o) 57

25. Vishwashanti Ahimsa Sammelan—2018 was
organized in which of the following State ?
(A) Maharashtra (B) Tamil Nadu

© Gujarat (D)

26. Which tax was collected by the Church
from peasants in France ?
(A) Taille (B) Land tax
)" Tithe (D) Forest tax

Goa

27. Gujari Mahal is located in
(A) Sonipat  _<4B) Hisar
(C) Panipat (D) Bhiwani

28. In Java, InputStreamReader translates
Bytes to
(A) Bytes B) Characters
(C) Bits (D) String

29.

from Whl:Ch Constitution did India borrow the
idea of Directive Principle of State Policy ?

(A) Constitution of France
(B) Constitution of USA
Je)” Constitution of Ireland
(D) Constitution of Britain

&

24, aRl

5/2019 (1) (E3)
22, TR ¥ sl e e g8 A
axdilr s e P 7 o1 7
(A) 1942 (B) 1962
(©) 1952 (D) 1972

23. af e R s “TRACE’ 31 ‘GIZXV
fra s &, @ ‘ROAST” 1 for@n
ST |

(A) IMZHG
(C) ILZHG

(B) ILZGH
(D) 1ZLMG

-

+ =7

+—1-=4,?ﬁx
X

3
® =
©) o &
25, frawrifa afeen gier — 2018 Frfafad
g g e o S foram mam o ¢
(A) WES (B) dfieHTg
(C) TS (D) T
26. W9 # == g Rl @ HIH-F1 g
e ST e ?

(A) e (B) -
(C) Tmim R (fad) (D) SR

27. TS0 WES Afeae
(A) @HTd @B) few
(©) urHlTa (D) fiErh

zlo Slo g
—_—

29. fohw wfaum & wita 3 v % <ify ke
i o faeR St 1 7 g
(A) STE T Giawe
(B) 3T =it wiym
(C) Imete =it wfyym
(D) 57 = wfyum
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30. Which of the following place is the
largest producer of scientific and surgical
instruments, hencee called Science City ?

_(A)  Ambala
(B) Sonipat
(©) Ynmunnnagar
(D) Sirsa

31. The distance of the Plane 2x — 3y + 4z =@
3t

from the origin is

ng- (B)

&
e

1
© - (D) %
32. Irani trophy is associated with which one
of the following Sports event in India ?
(A) Cricket
(B) Badminton
Football

(D) None of the above

33. In Haryana, the district which is the

largest producer of ironpipes?
AA) Kurukshetra (B) Hisar

(C) Ambala (D» Panchkul @&

B -2

(D) 0O

I
34. wacosz xdx =
3
(A) 2
(C) 19

Which layer controls the operation of the

subnet ?
(A) Network Layer

wBJ Data Link Layer
(C) Physical Layer
(D) Transport Layer

35.

i ' Downloaded fromrlwww.cclchapter.com

00 A Illllllllmlll
R i & a-an e At 3R

30.
aﬁmmwmﬁwm‘“%ﬁ“
ST A 78 forgT TR e @ 7
(A) 3aTe
(B) @rftaa
(C) IR
(D) fawan

31, WA 2x -3y +4z=6h A A B

6 5 i
“wm O

I 4
C ot
© 72=9 (D) o

32. 9ra # fafafea § 3 frg @ sigifar
&y fEft TR g R 7
(A) Torehe
(B) wefies
(©) geara O |
(D) 3o # | r$ T :

33. sfEmn =1 wH-a1 e &R F areal #51
oI 981 I41EH & 7
(A) Fo& (B) fewm
(C) 3amem (D) Y=g
1

34. _[choszxdx=
-1
A) 2 (B)"'-2
© 19 MD) 0

35. e o I BH-81 S Rt

FAT R 7

(A) e AW

(B) 3 form
(C) Tfomnet er
(D) ZE9E TR
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36. Choose the word which is least like other
words in the group.
(A) Tin
(C) Copper

37. Ifin a certain language ‘REMOTE’ is
coded as ‘ROTEME’, which word would
be coded as PNIICC ?

(A) PINCIC

PICNIC
(C) PICCNI
(D) PCIINC

38. The Brass City in Haryana is
Rewari -
(B) Panipat —
(C) Sonipat+
(D) Hisar s
7V.x41 - 74|
9, I[fx=3 +2\E. then the value of

1 22T @ - 4250
(‘”‘T-)

Y (B) 242
©€) 1 D) 33

?
5116_9 , then the value of X is
289

(A) 58
(B) 62
(©) 52
ABT 68

41. Who designed the High Court building of
Chandigarh ?
(A) Edwin Lutyens
_,(‘B)/ Le Corbusier
(C) Laurie Baker
(D) None of the above

40. If

# |t

RN e ai .

36.

3.

38.

39.

40.

41.

Downloaded from wyyw.cclchapter.com
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agmgﬁqa}a@%mmﬁi@m
w4 e |
;) & ) e
(C) dlem - (D)., s
aft ue fifeera s # ‘REMOTE EDl
‘ROTEME’ % ¥4 H HZ4 forn Tl €,
frg o2 1 2 PNIICC 81 ?
(A) PINCIC !
(B) PICNIC
(C) PICCNI
(D) PCIINC
fmon 3 daet o HA-H R 7
(A) WEl .
(B) urHlud
(C) W
(D) far
uﬁx=3+2ﬁ,ﬁ(&_71_]$rmq
=1 &N 7 "
(A) 2 (B) 2v2
© 1 D) 33

52 [169

S PR fondt ?
Ifg < 289,€rxmmw€\m.
(A) 58
(B) 62
(C) 52

(D) 68
e =4 AT % W e
frtfrm? 3
(A) TEfA
(B) o HEfE

(C) R

(D) IF A A 7




[—

UL W\ R)
. (]
dot add_listQr
\ \::130.40]
x.;\ppcml(SO)

print X

;\\‘\L“S‘O

print X

The above example prints
() 110] 130,40]

®) 130,40,50]

@© [10113040,50]
(D) Error in the program

43.  Which of the following is not included
in the list of Directive Principles of State

‘*I:’:%l'icy 7
¢X) Promoting world peace
k(B) Promotion of Village Panchayat

10

.:_:\
B (C) Religious Rights

E (D) Right for free education
Py

44. The equation of the curve passing through
the point (1, 1) whose differential equation
is xdy = (2x* + dx, X # 0,1s

3
\(K) x+loglx| @)
(D) x2+%log|x|

»
a oY, <A (4
b

DN

(C) logx*

45. The probability of obtaining an evengi rime
on each die, when a pair of dice is rolled, is

+* 1
f A (A) = (B 1
.H}/n: 3 ) 6 @
© 0 \/{) E
36

How many British members of Parliament

N\

are in the “Simon Commission” ?

(A) Nine (B) Five

\’(é) Eleven (D) Seven
B

el NG

N0 AR IR

42. x=[10]
def add_list():
x=[30,40]
x,append(SO)
print X
add_list()

print X
IeTell ﬁﬂaﬁm%l

(A) [10] [30:40]
(B) [30,40,50]
(©) [10][30,40,50]

43.

©)
(D) gcraﬁran%maqﬁmn

fag (1, 1) 3 wrea @ TERA are 36
aﬁmww%,ﬁwmm‘rm
xdy = (2x? + 1)dx, x # 0g?

3
(B)

44.

—_—

(A) x*+log|x|

3
(€) Jogx (D) x2+%log|x|
45. 1@ T T % T HH I B, W ek 91
T T T HEAT AT B i Wil @
A L 1
) = ® -
S 1 S
36
46. ‘T FHeE” § Hee
qw 9 7 T e
A) = B) tq
- (D) =
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47.  What is the main objective of recently
concluded “Astana C declaration” of WHO
and UNICEEF ?

(A) To improve the health condition of
adolescent girls in the South Asian
countries

(B) To reduce maternal and neonatal
mortality rate in the South-East
Asian countries

@7 To strengthen primary healthcare

(D) None of the above

48. What is the rank of India in the global
gender e index developed by UK ?
(A) 81
(B) 31¢
ey 95t
(D) None of the above

49. The non-perennial river which flows in
Haryana for a length of 50 km. is

) Indori (B) Rakshi
(C) Dohan (D) Chautang

50. If — means +, < means —, T means =+,

1 means X, [J means =, then choose the
correct optlon

4(A) 557&3F284
&« (B) 3161253605
qef 2156206

s4D) 743161104

pes- bt -

51.  The first European country came to India
through sea route was

Ay Portugal (B) Britain
(C) France (D) Dutch

m

52. Which of the following term refers to the

textual sources includes histories of the

period written by contemporaries ?
(A Folkiore (B Annals

(C) Ballads (D) Velums

Downloaded from www.cclchapter.com
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4. T A v Y % arer  ’ w7

“ ST ReeRe| 1 A e TR 7

(&) 3for oRrard et  fengi TrgfeRal A
ey feufe § gum s
afor-qd wftrad 3w 7 wrg 3N
FAITA Yeg T H FH HAT
(C) ik T I ol Hefeld LT
(D) Iodwa & & B

7.3, 30 fenfia fvas fom uma
I A WA 1 T HH-AR T
(A) 814l
(B) 314t
(©) 95af

(D) 39dad # & S

e # 50 fereniex aeh we areft’
R-aEHTE! 98 ha-di 8 7

(A) =X (B) Tt

(C) 3™ (D) e

I} — &1 AF +, A -, 1R +,
VRt 3 x, O 1 1Y =, N wedt oo o4
(X) S-»Te378004

@) 3461253605

© 2l5«<6—-206

(D) 7431761104

(B)

48.

49.

50.

51. H@Wﬁmﬁmwm@w

R
(A) gdme

(B) frem
(©) W

(D) ==

Frfafaa 3 ¥ Sm-a1 yee g g0
forfaa Ry Bidt 31 geffa w8, e
e 1 3RreTd Wit il @ 7
(A) S grat
(C) wurf|

S2.




52019 (1) (EJ)
ates from the Sh.ivnl

ace €

\,(m’ Tangri .
(D) Ghaggar

range near pl
Solan district 18
(A) Markanda |
(©) Saraswati

What is the rank of Haryana in India in

54.
terms of area ?
(A) 15" AB) 217
© 13" D) 28"
55, Optical fibre is based on

(A) Less scattering
(B) Refraction
_(©)” Total internal reflection
(D) Less absorption co-efficient

56. The average of all the numbers between

6 and 34 which are divisible by 5

M}(GGWN (B) 24
(Bl (C) 18 (D) 30
g

==  57. Complete the analogy :

Haemoglobin : Iron @ : Chlorophyll :
@ Magnesium  (B) Cobalt

(C) Copper (D) Calcium
58. The integrating factor of the differential
equation (1- yz)iif +yx=ay
dy

(where |y |< 1) is

| 1
By W s

1 |
ke y? -1 @ ;}1_y2

59, The rivers which are regarded as sacred
rivers in Haryana are Drishadvati and
(A) Godavari (B) Shivalik
(C) Yamyna  (B) Saraswati

ich origi ik
53, ‘Theriver which origin )
alled Dagshat 10 the

&

-10-

53.

54.

55.

56.

§7.

58.

59,

e Y TS A I Sy
Ao Ol &, SO T T b

(B)

Seehel FHIRT (l—yz)d—’;+yx=ay

(& |y | < 1) T FHTHCH 0T

1
A 1
(A) e (B) =T
1 i
(©) 1
Yz—-l (D) ﬁ
simon % ufes aeht sy
et et
i gl i
(A) TREh ®)
©) I D) m'“ﬁlﬂi

. Downloaded from www.cclchapter.com

)
) ——



i [ i ""v v ‘t ,.‘
PO I S S N P
A P
60. C}qlﬂlete the series @
6\,/17. 39, 72,7 %
(A) 127 (B) 8¢
Y116
(C) 9% P -
stpary constants in the
- ngiéﬁ‘ll::}bs%ﬂtﬁifo?lrg}l&%fcrcnl'ml equation
4% order is
: g o IO\I 1e of these
4 (D) Not .
+ S

The river Yamuna runs from Ynnmmuu_l'gur
| B to Faridabad to make the flood plains.
s These plains are divided into two parts, the

lower one is called

_(X) Khadar

(C) Nelli

2 62

(B) Marshy
(D) Shivalik

63. Co;ﬁf)\lct,c;.\‘iht;-‘éqﬁes:
138, 161, 185, 210, ?
236 (B) 258

(C) 216 (D) 272

64. A PC with colour moni&r@equircs

an UPS of
(A) 600VA @Y 250vA ~
(DY 440VA

(C) 500VA
65. The highest elevated area of Aravalli hills
which is 652 m high, is called as

(A) Kamalhills \¢B) Dhansi hills
(C) Sirsahills (D) Hisar hills

66. Ir} which one of the following States,
Singalila National Park is located ?
(A) Maharashtra

1B) Karnataka
(C) West Bengal
(D) None of the above

67.  The muffler made up of wool which worn
around the neck is also known as

(A) Safa (B) Dohar
(C) Paag _@) Guliband

-11-

512019 (1) (153)

60, sjeen ol sy,

61,

62.

63.

64.

65.

66.

67.

6, 17,39,72,1
(A) 127 (13) H#3
() 94 ) 116

Nt w2 o ven svearer it % Fre
wer 1 wreg ot ) v ¥

(A) 5 ) 0

©) 4 (D) gt A

TR A ORI T a1 arell i T
e werur At et fonfor G | A yeur A A
il 3 R 2§, gl Pre@ et
I el T @ 7

(A) TR (B) @erech
©) el (D) frenfers
PERINVEIIELE

138, 161, 185,210, ? _
(A) 236 (B) 258

(C) 216 (D) 272

177 % o wife a deft
7., ww. e el @ |

(A) G60OVA (B) 250VA
(C) 500VA (D) 440VA
652m @, 39 gl ST 2 |

(A) e vEifeai (B) wEt wefeat
(C) ‘fiarasntmﬁ-mgL (D) Teum veifeai

fFr=ferfiaa 7 & fora o 1 fmefien o

e feE R ?

(A) HERIS

(B) TFAleh

(C) ufyem smmra

(D) T # & #E 7

Tl H TR R ST Aot 3 @ 7 TR Y
g g |

(A) 9% (B) A

(C) 9m (D) Tefrere
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:‘/2019\&(’3; of the folloWing Committee
68.

ntly cubmitted the draft National
rece i

Educalional Policy ? ;
MadhaV Gadgil Comlml_{cc
Raghuram Rajan Committee
L pr. K. Kasturirangan Comm

,(Gg; None of the above

ittee

ree-tier Client / Server database

InTh ‘
rmediate layer is called as

architecture, inte
(A) Web interface «
uBY Database server:

(C) Client .
(D) Applicalion server

69.

70. The range of values of x in which
-~ fx)=x* - 6x +@lis increasing, is

ol ) B, ®) 0,3k

© (=3 (D) [-3,3]

5 pe 71. Alkyl cyanides react with Grignard
7 reagents to give

ol (A) Aldehydes \@Bj Ketones
o (C) Ethers (D) Amines
'-‘fw) " 72. Which district is the largest producer of

wheat in Haryana ?

#,¥  (A) Bhiwani  (B) Kamnal

[ we) Sima (D) Ambala

KA
@ I 73.] Shivalik Hills are the sources of many

" rivers. One of such river is
s (A) Kapila

%,

(B) Cauveri

(D) Gan ga 9

74. A number when divided by 6 leaves a
remainder 3, When the square of the same
number is divided by 6, the remainder is
(A) 1 (B) 2
©) 0 W) 3

Tangri

-12.

68.

69.

70.

71.

72.

5

74.

TR
i ey

xﬁmﬁﬁé}oﬂﬁﬂﬁ f(x)=x3—6x+3
affq T, T8 8

A) [3,) B) [0,3]

(C) (=, 3] ®) [-3,3]

A aTfment & ififRaT e STeahIEe

RS s gl
(A) TeEREE  (B) HEH
(C) 3W (D) 3THTE

wREN &1 i-a1 e 1 1 wed et
IEH S 7

(A) Tarh (B) AT

(C) foar (D) faTeT

Rrenfires ot verfe sga-wt afedt o diva § |
Ueft T 7
(A) Hftem
(©

(B) =@l
(D) T

T ST 8, ST 3t T 3y apf
ﬁm%,amwﬂqm%? B fafra

Egi I ®) 2
D) 3
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Choose the correct passive voice for the given
sentence |
75. “Close all the doors.”

) Let all the doors be closed

(B)
(C) Letthe doors closed

(D) All the doors aré closed

All the doors must be closed

the blank :

to get her way

Use appropriate idiom t0 fill in

76. Monalished _——
out with her mother.

AK) Crocodile tears

B) To cry wolf
(C) The ratrace
(D) A catand dog life

Identify the figure of speech used in the following

| sentence :
77. ‘Life is a dream’
‘_vﬁ Metaphor
(B) Personificationy,
(C) Simile .
(D) Apostrophe/

Select the Antonym of th i
‘ y e word in capi
the options given : S

78. DILIGENT
(A) Strict
(B)  Submit
A€ Slow i
(D) Junior

52019 (1) (E3)

Select a word or phrase from the given opuons

to complete the sentence :
79, lamfedup —— staying at this place.
(A) on

By~ with
(C) at
(D) for

Select the Synonym of the word in capital from

the options given :

80. EMANCIPATE
(A) Sheltering
_B) Liberate
(C) Help
(D) Tieup

13-

task should be done with patience.

(A) A rolling stone gather’s no mass

Rome was not built in a day

(D) Time and tide waits for none

Fill in the blank with suitable preposition :

82. Thave not met him ______ Monday.
(A) in
(B) from wg
(C) for

\_D)  since

‘E
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81. Selectthe proverb which means animportant

(C) Where there is a will, there is a way
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83,

(A) By

(B) fyay
"t(:) @

YA ¥ a9 Ry =

S=HR
@A) i
(B) g
(C)
(D) =i Tef

85. G133
5 amanmﬁamégﬁ@maqﬁm

®, A=
(A) fem
(B) &
Jor T
(D) @

86. q7T: +3nﬁ::

—— §

A)) Tareff
(B) awiieh
(©) wmedt
(D) ahef
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87. ﬁnﬁﬁmmﬂmfﬁ'?‘?
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g8, ‘R aital W ASH zq geral e @

(A) T SR ST
By @Ed EEA &
(C) =ad
(D) SEEEil 1 T
89, 21Ul ¥ Ael A IS TG H S AT} IR
iR wEde |
(A) FH
(B) famg-ar

(C) wHHE

D)

90. tgﬁgaﬂ‘TaﬂIEkaﬁ{r%l’zﬁ§?{ﬁ$q

05 % fore e 2 |
AT T .,
(B) T:Htf,vd
C) wFata
(D) WV\
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